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Prob. #1 (40 %)

(1) Plot the engineering and true stress-strain diagrams for a ductile material. (10 % » 7R 524X B3
Bl BFRHE LA BAERNLBARBH BRSO REN L5 E—Bfo—% > fE 10
2 Hak)
(2) nvxaf (%) T7L#E (RMA) (30%)
(a) Homogeneous and isotropic material (2 %)
(b) The gauge-length (1 %) (T E5F)
(c) Statically indeterminate problem (2 %)
(d) Offset method (2 %) ( TH %)
(&) Modulus of resilience (2 %) ( A& &)
() Modulus of toughness (2 %) ( #2%8 40 87 )
(g) The conventional and true stress and strain (2 %) (T HERA AR E ,&)
(h) Saint-Venant’s Principle (2 %)
(1) Hooke’slaw (2 %) (AN K )
() Factor of safety (2 %) ( 2ZBEEFFTH AR )
(k) Poisson’sratio (2 %) (AR BEHE$E)
(I) General state of stress (9% * HFEH REZBFTZ » #—1EBIo—4 > vE 945 A1)

Prob. #2 (30 %)

Draw the Mohr’s circle according to the given stress state and prove that:

T
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Where 6, is the plane of maximum normal stress and o7,2 are the principal stresses.

Prob. #3 (30 %)

The Am1004-T61 magnesium tube is bonded to the A-36
steel rod. If a torque of 7' = 5 kNem is applied to end 4,
determine the maximum shear stress in each material. Sketch
the shear stress distribution. Gs: =75 GPa and Gyg = 18 GPa.




